Year 5 Homework, Autumn Term Week 7
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1. 4998 + 2999 =

2. 4324 - 332 =
3.3x11 =
4. 456 =10 =

6. What is V2 of 30?

Maths: Speedy Six

5. Round 549 to the nearest 10.
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53821 + 62551 =

5291 -2332 =

66 x 8 =

Round 65382 to the nearest
1000.

What is 652.33 x 100?
Which fraction is an
equivalent to 2?
15/30 3/12

AwWwN &

o n

12/20

Keep practising your times tables. This week we will be looking at the 9s.
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Quick Comprehension:

Complete the quick comprehension sheet.
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Spellings
Core Support
prison membership
imprison partnership
imprisoned childhood
imprisonment gran
prove wind
proven king
approval must
disapprove wish
language plants
average notice

\

J

Optional SPAG question (1 housepoint if

completed)

Circle the words that should have a capital letter.

london

chair april hat

Homework is due in on 8" November.
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